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oH DO BOD SS KEEHK
(mg/) (mg/) (mg/l) | (MPN/100ml)
E&(E] 656~85] 75LLF | 20LLF | 25LLF | 1000LLF
EHE(75%1E) - 9.9 0.9(1.4) 2 520
48] 72 11 14 1 230
6A| 70 9.4 <05 3 300
8A| 75 8.8 <05 <1 170
10A] 75 9.1 1.6 2 2400
128 72 10 <05 <1 13
28 7.2 11 0.7 <1 7
BFEER
NI INEDS & £ ANEvAL| #HME fKER 7L ILKEE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#E(E] 0.01LLF | E#EHE | 001LLF | 0.05LLF [ 0.01ELF [ 0.0005ELF
E{E]  <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
48] <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
6A] <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8AH - - - - - - -
108]| <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
128 <0.001 <0.1 <0.005 <0.02 <0.001 <0.0005 -
2R - - - - - - -
ooa0f] .o |L2-070[1,1->50a[>X-1,2->50]1,1,1-rJ)70
PCB .y bR, 3 3 axs | TFLy NTFLY RIS
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#EE] ERE [0.02LLF ] 0.002LLF [0.004LLF [ 0.02ELF [ 0.04LLF 1LF
SEHfE] <0.0005 | <0.002 <0.0002 | <0.0004 | <0.002 <0.004 <0.01
48[ <0.0005 | <0.002 <0.0002 | <0.0004 | <0.002 <0.004 <0.01
6 Al <0.0005 | <0.002 <0.0002 | <0.0004 | <0.002 <0.004 <0.01
8Al - - - - - - -
108] <0.0005 | <0.002 <0.0002 | <0.0004 | <0.002 <0.004 <0.01
128 <0.0005 | <0.002 <0.0002 | <0.0004 | <0.002 <0.004 <0.01
24 - - - - - - -
1,1,2-ky4 [FUZAR|FrS900I(1,3-07A — . —sen FARA
Aoxsy | TFLY | FLr  |aFaKky FOIL| YRDY )%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#(E]0.006 L F] 0.03LLF | 0.01LLF [0.002LLF [0.006 L F| 0.003LLF 0.02LLF
SEHfE] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
4A[ <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
6 Al <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8AH - - - - - - -
10A] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12A8] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
2R - - - - - - -




HEBNEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEAE{E] 001LLTF 10.01LLF 10LLF 0.8LLF 1LLF
Eiy <0.001 <0.001 0.22 <0.1 <0.1
4H| <0.001 <0.001 0.23 <0.1 <0.1
6H| <0.001 <0.001 0.20 <0.1 <0.1
8H - - - - -
10H] <0.001 <0.001 0.27 <0.1 <0.1
12H] <0.001 <0.001 0.19 <0.1 <0.1
2R - - - - -
EDHIEE
N SR | 28 @ | 2@ | saotus | VEpTY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TH{E - 0.43 0.011 <0.04 <0.005 <0.001 <0.008
4A - 0.45 0.019 <0.04 <0.005 <0.001 <0.008
6H - 0.26 0.015 <0.04 <0.005 <0.001 <0.008
8A - 0.28 0.015 <0.04 <0.005 - -
10A - 0.96 0.010 <0.04 <0.005 <0.001 <0.008
128 - 0.33 0.004 <004 | <0005 <0001 <0008
28 - 0.29 0.003 <004 | <0005 - -
BiLH HIHERE | B s Repp——
IT/=| xS coD el > AE ESizEX
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
EHE]  <0.02 3 1.2 <0.01 <0.01 1 80
4H| <0.02 <1 1.0 <0.01 <0.01 <1 70
6H| <0.02 3 1.1 <0.01 <0.01 1 73
8A - - 1.3 - <0.01 <1 74
10H] <0.02 3 2.0 <0.01 <0.01 <1 73
12H] <0.02 3 0.9 <0.01 <0.01 <1 94
2R - - 0.8 — <0.01 <1 94
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48 = 13.9 12.8 == BE me mR
68 551 18.2 16.1 =IE BE ®me mR
8H i 325 24.9 =IE BE me mR
108 55 19.0 19.3 =IE BE me mR
128 & 11.3 12.9 =IE BE me mR
28 & 9.4 10.3 == BE ) M
HERIEEE _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
E%(E] 65~85] 75LLF | 20LLF | 25LLF | 1000LLF
EHIE (75%1E) - 10 0.9(1.5) 2 660
48] 72 11 15 4 1300
64 7.0 9.7 0.5 4 800
8A|l 13 9.2 <0.5 4 500
10A] 70 10 1.9 1 1300
128 7.1 12 <0.5 4 17
28 7.1 11 <0.5 <1 22
BEIER
N INESS & o ANEYOL| #tE ks |7xukeg
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
] 0.01LLTF | E#H | 001LLF | 0.05LLF | 0.01LLTF | 0.0005LLF JERRH
EiH{E - - - - - - -
4K - - - - - - -
6A - - - - - - -
8AH - - - - - - -
108 - - - - - - -
12| - - - - - - -
28 - - - - - - -
oo00A pwe |1,2-090[11-500| > 2-1,2-250(1,1,1-F)H0
PCB gy | PREER | hrgy | 'zrly | ozFly AT4Y
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
s JE#RE [0.02LLF | 0.002LLTF [0.004LLTF ] 0.02LLF [ 0.04LLF 1LTF
iy - - - - - - -
4K - - - - - - -
68 - - - - - - -
8AH - - - - - - -
108 - - - - - - -
128 - - - - - - -
28 - - - - - - -
1,12-+y4 [M)Y0a|F54980x(1,3-990 = S, ose FARUAH
aaIsy | TFLY FLY oroRy Fo5L e P %
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#(E[0.006LLF[0.03LLF | 001LLF [0.002LLF[0.006 L F[ 0.003LLF 0.02LLF
Ty - - - - - - -
4K - - - - - - -
6A - - - - - - -
8AH - - - - - - -
108 - - - - - - -
128 - - - - - - -
28 - - - - - - -




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#(E] 001LLTF [001LLF| 10LLTF 08LLF | 1LTF
E - - - - -
4K - - - - -
68 - - - - -
8H - - - - -
10R - - - - -
128 - - - - -
28 - - - - -
ZTDhIFE
N—AZFH \ HRILLTIL
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EH{E - 0.28 0.009 <0.04 <0.005 - -
4K - 0.35 0.029 <0.04 <0.005 - -
6H - 0.26 0.005 <0.04 <0.005 - -
8H - 0.28 0.010 <0.04 <0.005 - -
10R - 0.32 0.006 <0.04 <0.005 - -
128 - 0.25 0.003 <0.04 <0.005 - -
2R - 0.23 0.003 <0.04 <0.005 - -
()] HIHERY | UVERH 5 R
IT/=| xS cobD el > AR BREER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
EH{E = - 1.3 - - A 70
4K - - 0.9 - - 4 67
68 - - 1.4 - - 4 65
8H - - 1.2 - - 4 67
10R - - 2.0 - - 4 65
128 - - 1.2 - - 4 85
2R - - 0.9 - - A 70




